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General Instructions »

1. This paper contains four parts as under :

Part I :  General Intelligence (50 Marks)
PartIl  : English Language (50 Marks)
PartIll : Quantitative Aptitude (50 Marks)
Part IV : General Awareness (50 Marks)

2. All parts are compulsory, Answer the guestions as per the instruetions given in each part.
3. You are permitted to take away this question paper with you on completion of the test.

4. Do not write anything on this Question Paper. Answers are to be given in the
Question-cum-Answer-Books supplied separately for each part,
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PART 1
GENERAL INTELLIGENCE
|

aTaT gigwa
Note : There are 20 questions of 2-5 marks exch. Candidates are required to attempt all questions.

Fiz ; 5EH 20 ¥ B G 5 25 Hwl & B | aegieEt & a9 yel & I aar @

1. Fill in the blank :
Descent : Rise : : Despondent : 7
fr wam it 9fF s .

o ; 3 o 9

2, Find the odd number in the following series :
fr=forfas s § foam g s it

13, 29, 37, 49

3. Find the odd pair of numbers from the following :
Fraferfiga § & fawn @=naAt 1 S aw $ifao
(324, 18), (441, 21), (169, 13), (186, 14)

4. Complete the series :
HTA H [ Fifw
OML, VTS, KTH, X

B. Arrange the following in a meaningful order :
seed, fruit, plant, stem, flower

Fr=fafas =1 ad=s w9 o =afom Hifw .
1, wel, N, T, F_

6. In a certain code language, ‘PERFECT’ is written as ‘RGTHGEV'. How would “‘BROWN’
be written in that code ?

v fafire $ewr § ‘PERFECT %1 ‘RGTHGEV' foran wman # | =&t ewmn § ‘BROWN'
&4 e s 2

e If ‘SISTER’ is coded as 121345 and ‘ART’ is coded as 653, how will you encode
‘ARREST 7
4f3 ‘SISTER' %! 12345 3N ‘ART %1 653 % F2&9 1 for@n 9m@n 2, &1 ‘ARREST = &9
&H T 7
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8. A father’s age is twice his son’s age. Eight vears ago, he was thrice as old as his son.
Indicate the present age of the son.

uF fim 1 oy vEE gF A A # gE R ) ome 9 veet seeht sy vt g Y ay @
fort ot | g3 i FdE 3y = |

9. Rama and Molly sing Karnatic and Hindustani music. Molly and Padma sing Hindustani
and light music. Padma and Kamala sing light and semi-classical music. Rama and
Kamala sing semi-classical and Karnatic music. Who sings light, semi-classieal and
Karnatic music ?

o 3R wie! FAlew iR fegEl @it M & | "Rt ot vem fege SR gew @i
et # | 9gE AR wuen wesh A sy wfta et # | sit ween sdareia el
FeAles Fiit et # | Feehl, F-IE o FAles WM 9 T # 2

10. If you arrange the letters given below properly, it will give a meaningful word. Find out
that word.
a2 g F= fow Mo wed = S @ waftu w6, 9 % ws g w41 # | 39 WS &
3 HfAT |

TAOBIROPSN

m—

11.  If the English alphabets were written in the reverse order, which will be the 10 letter to
the right of the 12" letter from the left ?
#f2 siisht aviaren 3e wu A fowell st B, @ And B 1298 wew F g I 1081 WER
FIH-31 B 2

12. Surender is standing at 15" place from either end of a queue. How many persons are

there in the queue ?
gtz v ufes # 2H1 AR F 159 T W we | O § e st

13. If Ahmed travels towards North from his house, then to the left, then to South, covering
equal distances in each direction to reach Schan's house, in which direction is Ahmed's
house now 7

Ife ABHE N9 W B I I AR A B, O and wnan B, e afio @ & af wedes fam
# BOR gft 79 A HEA F 9T vEe 2, A w1 oo fEm fand @ 0

14. If P> Q and P > R, indicate the relationship between the three.
afz p>Q 3t P> R, 7t 41 & sl gy T
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15.

16.

17.

18.

18,

Find the missing number :
H T TT $ifw

-
2] o

£ o

J
4
]
60 56

Donkey : Brays : : Horse : ?
W:m‘%::ﬁh&: 4

“A’is aunt of ‘B’ who is the granddaughter of ‘C’ whose son ‘D' is the uncle of ‘', How is
D’ related to ‘A’ ?

NI R B R, N CR R, B @D, B wwwm dDw A = my
27

‘Yamuna’ and ‘Ganga’ are of same age. ‘Roja’ is younger than ‘Ganga’. ‘Vidya' is younger
than Priya’ but elder than ‘Yamuna', Who is the eldest of all ?
T SR oy 7 E | U, @ s A od b e g | far ®
B 4, P T @ & | By B 2

Find the missing number :
W T T Sifw

9 8 > B

f U4 /8

2 U3 [

125 71 279

An alloy consists of 30% Copper, 40% Zinc and the remaining Nickel. Find the amount of
Nickel in 20 kgs of the alloy,

e famarg 30% tan, 40% s ok 9w ke @ w2 | Tazremg % 20 fon & gm0
HTET I Hif |
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PART IT
ENGLISH LANGUAGE

Note: There are three (03) questions in this part. Candidates have to attempt all questions.
The marks for each question are indicated on the right.

This part is to be answered only in English Language.

1. Write a short essay on any one of the following topics in about 250 words :

(a)
(bl
(el
(d)

An accident scene
Honesty is the best policy
My dream job
Sustainable development

2. Suppose you are Harsha. Write a letter to your mother deseribing vour recent illness and
your recovery from it.

OR

Write a letter to the Director, Department of Edueation, Faridabad, describing the
condition of the poor children in school.

3. Do as directed :

(a)
(b)
e
(d)
(e)

RHS-2015

He said, “Mohan, when is the next meeting 7" (Change the narration)
You should not boast of your health. (Change into interrogative)

All agreed to what I propesed. (Change the voice)

They are too clever to be taken in by you. (Change into negative)
Who has stolen your books 7 (Change the voice)

25

15

10
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PART III
QUANTITATIVE APTITUDE

W 00
i wfishr

Each question carries 10 marks.

59 Y7 & 99 (05) 99 & | gt @1 urdw geT 1 360 o7 £ | Vel W9 10 I FT

2/

(a)  Find the value of (x —p)® + (x =g + (x - 1® - 3(x - p) (x - @) (x =), if
_p+q+l‘

3
a2 x = L;“—r ﬂ’,?fT[x-p}3+[:—q]3+an-rlls—ﬂlix—p}(x-ql(x-r]l'ﬂ

O T it |

(b) Find the value of x3 - 8y — 36xy — 218 if x -6 = 2y.

g x-6=2y B, @ x*- 8y - 36xy - 218 F W 3w Fifere |

A person borrowed a sum of money and returned it in three equal quarterly
instalments of ¥ 35,152 each. Find the sum borrowed, if the rate of interest charged
was 16% per annum compounded guarterly.

uF =i 7 T8 uf sun & ot W iR wmE I et § o B, s fs e
frea = 35,152 1 i | 3um <t mE Ui Fm Fifsw, IR = B w169 TEE B
=7 Juifee waifas o g |

Water is flowing at the rate of 3 km/our through a pipe, whose internal radius is

10 cm, into a cylindrical tank whose diameter is 10 m and height is 2 m. In how much
time will the tank be filled with water ?

10 8t sriafts Bea @t v arsv g 3 Fefieer % 9 @ are e o o SR
2t 7 T Tan B T = 10 fiex 7o o 2 ftex @ | Fred o § & ol @ ot
qE WL S
(a) The areas of two similar triangles ABC and PQR are 64 em? and 121 cm?
respectively, If QR = 154 cm, find BC.
2 wEY BSl ABC 3R PQR % &% #uW: 64 T A 121 H° # | AR
QR = 15-4 991 B, F1 BC 719 Hifem |

(b} Two circles of radii 10 cm and 8 cm intersect at two points and the length of the
common chord is 12 em. Find the distance between their centres.

10 %t 3fR 8 &t B At 2 g @ gt w wfeedy w0 # aw 3 vt
e &1 warg 128 & | 39 Fi & g A gt i Fifw |

X
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There are five (05) questions in this part. Candidates have to attempt all questions.
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5.  The angle of elevation of an aeroplane from a point on the ground is 60°. After g flight
of 30 seconds, the angle of elevation changes to 30°, If the plane is flying at a constant
height of 30003 metres, find the speed of the plane in km/hour,

‘@*ﬁ?ﬂﬁsﬂﬁiﬁmwmmﬂﬁwﬁmﬁranﬂm#m%m
SRS T I B0 30° & A R | 2 T 30003 et #1 s Famf w 72 T A,
a’fmﬁwﬁl,ﬁmﬁfﬁmﬁ,m#ﬁm
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PART IV
GENERAL AWARENESS

T IV
BT ATH&HT

Note: There are five (05) questions in this part. Each question carries 10 marks. Candidates
are required to write Short Notes in 75 words on each question.

qE:  F N F w5 397 & | 59% 3T F 10 3% ¥ | srafefal s gee 99T 9 75 el §
Tam oyt et g |

1. ‘Indian Independence League’
‘et T o

2. System of Land Revenue introduced by Mughal emperor, Akbar
TS HHIE, PR g 9E i T8 e ey

8. ‘Credit Rationing’

Iun-EnE (shfse TafEm)
4,  Kautilya's “Arthashastra’
 Sifer w o’
6.  Adult Franchise

T TR
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